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Problem 1 (10p)
Consider the 2-step LMM .

Tni2 + 1Tnp1 + QoTn = h (Bofns2 +ﬁ1fu_~:ﬂofq) 7' :
q (a) Write the conditions on the coefficients ag, aj, Bo, ﬂ;,A ;

method is convergent

(b) Calculate the coefficients ag, a1, fo, B1, B such that nn; ethod is
gent with the highest order. \

(c) Verify the result obtained at point (b) by simulating th
and comparing the result against the exact solution. L.
should obtain a global error E,. = (O)(h')




Problem 4

MukmthTtueorFalnthefoﬂwmgmtethFwdwFﬂs
theconectstatemem.‘l‘hemdiatedpmnnwﬂlbaawdedoﬂy :
answer and correct statement.

1. Implicit integration methods have, ingcnanl.hlsﬁﬂ*
plexity and larger stability regions.






